“Honors Pre-Calculus - Name KQ/\{

- Unit Circle - Unit Review

Find the value of the trig function indicated.
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5 a¢ 3) Find the other five trigonometric ratios if sin & = N2 and the triangle is in quadrant 2.
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Solve each equation for 0 < 8 < 360.
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Find the exact value of each trigonometric function.
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Find the value of each expressnon below. Give angles in degrees AND radians.
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“ _Find the exact value of each using a sum/difference formula.
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4 _

21) cos 165

. 23) tan 195
2-/3
25) tan& 26) cos&
12 12

Jo-2
| 4

(T’F\" A\ = Qb —> See ok 0N G- Separa:k, P‘*gjd 3

27) Suppose tan o =-15/8 and cos B =-7/25 S\br\(o(-'r ) = A RCos +C@SDL\SJ(\

where n/2<o<m and w<p<3n/2
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Then, find sin (a+f).
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| Find a positive and a negative cbterminal angle for each given angle.
1) —195° 2) 388°
165° and —555° 28° and -332°

Find the reference angle.
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Convert each degree measure into radians.

11) -555° 12) 250°
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13) 940° 14) 765°

Convert each radian measure into degrees.
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